
CHEMISTRY

BOOKS - BRILLIANT PUBLICATION

NITROGEN COMPOUNDS

Leve 1 Home Work

1. Which of the following is/are derivatives of

ammonia ?` `

A. CH3CH2NH2

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_qcnUl6If7qxu


B. 

C. 

D. All of these

Answer:

Watch Video Solution

(CH3)3N

(CH3)2NH

2. The hybridisation and geometry of amines are

 and pyramidal respectively because of

A. divalent N-atom

B. Trivalent N-atom

sp3

https://dl.doubtnut.com/l/_qcnUl6If7qxu
https://dl.doubtnut.com/l/_1012xor6ZmAQ


C. Monovalent N-atom

D. Tetravalent N-atom

Answer:

Watch Video Solution

3. If one H-atom of ammonia is replaced by an alkly

group, the amine obtained is known as

A. Primary amine

B. Secondary amine

C. Tertiary amine

https://dl.doubtnut.com/l/_1012xor6ZmAQ
https://dl.doubtnut.com/l/_otWILqmSCARe


D. Quarternary amine

Answer:

Watch Video Solution

4. The IUPAc name of

 is

A. Ethane -1, 3-diamine

B. Ethane-1, 2-diamine

C. Ethyne-1, 2-diamine

D. Ethene-1, 2-diamine

H2N − CH2 − CH2 − NH2

https://dl.doubtnut.com/l/_otWILqmSCARe
https://dl.doubtnut.com/l/_SKzMK3xg9SYR


Answer:

Watch Video Solution

5. What is the bond angle of C-N-C in trimethyl

amine ?

A. 

B. more than 

C. 

D. more than 

Answer:

109.5∘

109.5∘

108∘

108∘

https://dl.doubtnut.com/l/_SKzMK3xg9SYR
https://dl.doubtnut.com/l/_r5VfpXW0c7sY


Watch Video Solution

6. Select the correct statement about

ammonolysis

A. It is the process of cleavage of the C-X bond

by ammonia

B. The reaction is carried out in an open tube

at 

C. Both 1 and 2

D. None of the above

373∘K

https://dl.doubtnut.com/l/_r5VfpXW0c7sY
https://dl.doubtnut.com/l/_NTiBhjYT58LG


Answer:

Watch Video Solution

7. The reaction which is used for the preparation

of amine having one carbon less than the starting

material is

A. Reduction of nitriles

B. Hofmann's bromamide reaction

C. Reduction of nitrocompounds

D. All of the above

https://dl.doubtnut.com/l/_NTiBhjYT58LG
https://dl.doubtnut.com/l/_HOyckc1KdpSb


Answer:

Watch Video Solution

8. Which of the following products is formed in

the given reaction :  ?

A. 

B. 

C. 

D. 

Answer:

RCONH2

LiAlH4

−−−→
H2O

RNH2

RCH2NH2

RCH2CH2NH2

RCN

https://dl.doubtnut.com/l/_HOyckc1KdpSb
https://dl.doubtnut.com/l/_zOMhRI2P5ALN


Watch Video Solution

9. Which of the following statements is/are true

about Hofmann bromamide reaction ?

A. In this reaction, migration of an alkly group

takes place from nitrogen atom of amide to

carbonyl carbon

B. The amine formed contains one carbon

more than that present in the amide

C. The amine formed has one carbon less than

in the amide

https://dl.doubtnut.com/l/_zOMhRI2P5ALN
https://dl.doubtnut.com/l/_oBe1Wc2fB3sH


D. All are correct

Answer:

Watch Video Solution

10. Choose the correct order of boiling point of

amines

A. 

B. 

C. 

D. 

1∘ > 2∘ > 3∘

2∘ > 3∘ > 1∘

3∘ > 1∘ > 2∘

3∘ > 2∘ > 1∘

https://dl.doubtnut.com/l/_oBe1Wc2fB3sH
https://dl.doubtnut.com/l/_b7rEXWzo4l3Q


Answer:

Watch Video Solution

11. For the reaction

. The correct

expressions are

A. 

B. 

C. 

RNH2 + H2O ⇔ R.
+

NH3 + OH −

K[H2O] =

[R
+

NH3][OH − ]

[RNH2]

Kb =

[R
+

NH3][OH − ]

[RNH2]

pKb = − logKb

https://dl.doubtnut.com/l/_b7rEXWzo4l3Q
https://dl.doubtnut.com/l/_1hzPuBqXvQhh


D. All are correct

Answer:

Watch Video Solution

12. Which of the following factors affect the basic

strength of amines ?

A. Solvation effect

B. Inductive effect

C. Steric effect

D. All the above

https://dl.doubtnut.com/l/_1hzPuBqXvQhh
https://dl.doubtnut.com/l/_nzSMYIp9Yr1T


Answer:

Watch Video Solution

13. The correct order of the basic strength of

amines in aqueous medium is

A. 

B. 

C. 

D. 

Answer:

C2H5NH2 > (C2H5)NH > (C2H5)N

C2H5NH2 > (C2H5)3N > (C2H5)2NH

(C2H5)2NH > (C2H5)3N > C2H5NH2

(C2H5)2NH > C2H5NH2 > (C2H5)3N

https://dl.doubtnut.com/l/_nzSMYIp9Yr1T
https://dl.doubtnut.com/l/_mvi2I3SeqA3v


Watch Video Solution

14. The increasing order of basic strength of the

following compounds is 

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

b < c < a

c < a < b

c < b < a

b < a < c

https://dl.doubtnut.com/l/_mvi2I3SeqA3v
https://dl.doubtnut.com/l/_C3a3HxvpLdea


Watch Video Solution

15. Which of the groups increases basic strength

of substituted aniline ?

A. 

B. 

C. 

D. both 1 and 2

Answer:

Watch Video Solution

−OCH3

−CH3

−SO3H

https://dl.doubtnut.com/l/_C3a3HxvpLdea
https://dl.doubtnut.com/l/_by85v1IJVnA1
https://dl.doubtnut.com/l/_fyh5bN6Qb8J5


16. Which of the following compounds will liberate

 from  solution

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CO2 NaHCO3

CH3CONH2

CH3CH2CH2NH2

CH3

+

NH3Cl
−

(CH3)4
+

NOH −

https://dl.doubtnut.com/l/_fyh5bN6Qb8J5


17. Consider the reaction :

. Z is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3CH2Cl
KCN
−−→ X

Ni/H2

−−−→ Y
(CH3CO ) 2O

−−−−−−−→ Z

CH3CH2CH2NHCOCH3

CH3CH2CH2NH2

CH3CH2CH2CONHCH3

CH3CH2CH2CONHCOCH3

https://dl.doubtnut.com/l/_0lCPUHXl8twj


18. Treatment of cyclobutylmethylamine with

nitrous acid does not give

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_3YvKsugAE3rs


19. The amine which will not liberate nitrogen on

reaction with nitrous acid is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

(CH3)3N

CH3CH2

NH2

∣

CHCH3

CH3 −

CH3

∣

C
∣

CH3

− NH2

CH3CH2NH2

https://dl.doubtnut.com/l/_AZfSJ5DvKeB7
https://dl.doubtnut.com/l/_K7nkJiKTCizX


20. Which of the following compounds will not

undergo azocoupling reactions with benzene

diazonium chloride ?

A. Aniline

B. Phenol

C. Anisole

D. Nitrobenzene

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_K7nkJiKTCizX


21. Amongst the following compounds, the one

that gives a brilliant coloured dye on treatment

with  followed by addition of an

alkaline solution of - naphthol

A. ` `

B. 

C. 

D. 

Answer:

Watch Video Solution

NaNO2 /HCl

β

https://dl.doubtnut.com/l/_oFodihM5YRM3


22. Aniline is heated with  and .

The product is

Watch Video Solution

K2Cr2O7 H2SO4

23. Aniline with benzaldehyde forms

A. 

B. 

C. 

D. 

C6H5NHCOC6H5

C6H5N = CHC6H5

C6H5NHCHOHC6H5

C6H5NHCH2C6H5

https://dl.doubtnut.com/l/_frc38QmlVxfn
https://dl.doubtnut.com/l/_wxl9tBMMuvL5


Answer:

Watch Video Solution

24. An optically inactive compound with molecular

formula  dissolves in dil. HCl and releases 

 gas on treatment with nitrous acid. The

compound is

Watch Video Solution

C6H7N

N2

25. Assertion : Order of basicity of amines in

gaseous phase of  primary  secondary NH3 > >

https://dl.doubtnut.com/l/_wxl9tBMMuvL5
https://dl.doubtnut.com/l/_fnLbIT86tLig
https://dl.doubtnut.com/l/_yjFmkVgWIhpp


 tertiary. 


Reason : In gaseous phase basic nature of

aliphatic amines increases with increase in no. of

alkly groups.

A. Both Assertion and Reason are true and

reason is the correct explanation of

assertion.

B. Both Assertion and Reason are true and

reason is not the correct explanation of

assertion.

C. Assertion is correct, Reason is incorrect

>

https://dl.doubtnut.com/l/_yjFmkVgWIhpp


D. If Assertion is incorrect, Reason is correct

Answer:

Watch Video Solution

26. Assertion : Aromatic amines cannot be

prepared by Gabriel's phthalimide synthesis. 

Reason : Aryl halides do not undergo electrophilic

substitution with anion formed by phthalimide.

A. Both Assertion and Reason are true and

reason is the correct explanation of

https://dl.doubtnut.com/l/_yjFmkVgWIhpp
https://dl.doubtnut.com/l/_f42cFbXHpEAy


Leve 2

assertion.

B. Both Assertion and Reason are true and

reason is not the correct explanation of

assertion.

C. Assertion is correct, Reason is incorrect

D. If Assertion is incorrect, Reason is correct

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_f42cFbXHpEAy
https://dl.doubtnut.com/l/_5y2AOztfZ1wA


1. General formula for saturated aliphatic amines

is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CnH2nN

CnH2n+1N

CnH2n+2N

CnH2n+3N

https://dl.doubtnut.com/l/_5y2AOztfZ1wA


2. Number of structuraly isomeric primary amines

for the formula  is

A. 2

B. 3

C. 4

D. 5

Answer:

Watch Video Solution

C4H11N

https://dl.doubtnut.com/l/_SOxsClcuSgT0


3. Which of the following compounds will exhibit

optical isomerism ?

A.  butylamine

B. Secondary butyl amine

C. Isobutylamine

D. Neopentylamine

Answer:

Watch Video Solution

3∘

https://dl.doubtnut.com/l/_3xjNokoHtXyZ


4. Which of the following products is formed in

the given reaction :  ?

A. 

B. 

C. 

D. RCN

Answer:

Watch Video Solution

RCONH2

LiAlH4

−−−→
H2O

RNH2

RCH2NH2

RCH2CH2NH2

https://dl.doubtnut.com/l/_kDGQY4YZeNh7


5. Which of the following reactions is not a

method of preparation of amines ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

RCN
H2 /Ni

−−−→

RCONH2

LiAH
−−→
H2O

RCN
H2O/H +

−−−−−→

RCONH2

OBr−

−−−→

https://dl.doubtnut.com/l/_jk1zl57aQ8vb


6. Choose the correct boiling point order of

amines

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

1∘ > 2∘ > 3∘

2∘ > 3∘ > 1∘

3∘ > 1∘ > 2∘

3∘ > 2∘ > 1∘

https://dl.doubtnut.com/l/_35q3206hPIxk


7. Amongst the following the strongest base in

aqueous medium is

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3NH2

NC − CH2NH2

(CH3)2NH

C6H5NHCH3

https://dl.doubtnut.com/l/_D0OEI8Zzsusg


8. Which of the following is the strongest

bronsted base ?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_zZVM8MId9VBe
https://dl.doubtnut.com/l/_fYu06VYoKwjU


9. The correct basicity order of the following

compounds is 

(I)  (II)  (III) 

 (IV) 

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3 −

NH

∣ ∣

C − NH2 CH3CH2NH2

(CH3)2NH CH3 −

O

∣ ∣

C − NH2

II > I > III > IV

I > III > II > IV

III > I > II > IV

I > II > III > IV

https://dl.doubtnut.com/l/_fYu06VYoKwjU


10. Which of the following is the weakest Bronsted

base?

A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

CH3NH2

https://dl.doubtnut.com/l/_fYu06VYoKwjU
https://dl.doubtnut.com/l/_86iKL2daXSQ9


11. The reaction of p-methyl aniline with

chloroform and ethanolic KOH gives

Watch Video Solution

12. An organic compound (A) could be converted

to N-methyl aniline by the following sequence of

reactions 

. What

is the structure of compound A

A. 

A
Sn/HCl

−−−−→
Δ

B
CHCl3
−−−−→
alc.KOH

C
H2

−−→
Ni

C6H5NHCH3

https://dl.doubtnut.com/l/_he1LxvPnXZwt
https://dl.doubtnut.com/l/_7Ei3F85Ie9Eu


B. 

C. 

D. 

Answer:

Watch Video Solution

13. Which of the following compounds will form an

yellow N-nitroso aniline on treatment with 

in cold condition

A. Aniline

HNO2

https://dl.doubtnut.com/l/_7Ei3F85Ie9Eu
https://dl.doubtnut.com/l/_OTgqpa2cR18I


B. N-methylaniline

C. p-methylaniline

D. N, N-dimethyl aniline

Answer:

Watch Video Solution

14. Which of the following reactions /methods has

no concern with either synthesis or separation of

amines ?

A. Curtius reaction

https://dl.doubtnut.com/l/_OTgqpa2cR18I
https://dl.doubtnut.com/l/_eGEyLyy0aku0


B. Wurtz reaction

C. Hinsberg method

D. Hofmann's method

Answer:

Watch Video Solution

15. Which of the following compounds will give

positive carbylamine test

A. Benzamide

B. Benzylamine

https://dl.doubtnut.com/l/_eGEyLyy0aku0
https://dl.doubtnut.com/l/_2F7NPH7iO3hN


C. N-methylaniline

D. Acetamide

Answer:

Watch Video Solution

16. The product of the reaction

A. 

B. 

C. 

CH3CH2NH2

CS2

−−−→
HgCl2

P

CH3CH2NCS

CH3CH2CNS

CH3CH2NCO

https://dl.doubtnut.com/l/_2F7NPH7iO3hN
https://dl.doubtnut.com/l/_YQzidR6kXrV5


D. 

Answer:

Watch Video Solution

CH3CH2CNO

17. In a set of reactions, propanoic acid yielded a

compound D. 

. D is

A. 

B. 

C. 

CH3CH2COOH
A

SOCl2
−−−→ B

NH3

−−→ C
Br2
−−→
KOH

D

CH3CH2NH2

CH3CH2CH2NH2

CH3CH2CONH2

https://dl.doubtnut.com/l/_YQzidR6kXrV5
https://dl.doubtnut.com/l/_wd1PBp3Ja1lu


D. 

Answer:

Watch Video Solution

CH3CH2NHCH3

18. Which of the following compounds exist as a

Zwitter ion ?

A. p-amino phenol

B. p-amino acetophenone

C. suphanilic acid

D. salicylic acid

https://dl.doubtnut.com/l/_wd1PBp3Ja1lu
https://dl.doubtnut.com/l/_n1gDbtYqSNd3


Answer:

Watch Video Solution

19. What is the final product 'C' in the following

reaction 

A. 

B. 

C. 

D. 

C6H5NH2

NaNO2 /HCl

−−−−−−−→
0 ∘C

A
CuCN
−−−→
KCN

B
1 .SnCl2 /HCl

−−−−−−−−→
2 .H2O/ Δ

C

C6H5CN

C6H5CH2NH2

C6H5COOH

C6H5CHO

https://dl.doubtnut.com/l/_n1gDbtYqSNd3
https://dl.doubtnut.com/l/_oCfJwP5XmPNi


Answer:

Watch Video Solution

20. Aniline in a set of reactions yielded a product

'D'. 

. 'D'

is

A. 

B. 

C. 

D. 

C6H5NH2

NaNO2

−−−−−→
HCl . 0 ∘C

A
CuCN
−−−→ B

H2

−−→
Ni

C
HNO2

−−−→ D

C6H5CH2OH

C6H5CH2NH2

C6H5NHOH

C6H5NHCH2CH3

https://dl.doubtnut.com/l/_oCfJwP5XmPNi
https://dl.doubtnut.com/l/_Rw5fP3L7qWsS


Answer:

Watch Video Solution

21. Assertion : Reduction of m-dinitrobenzene with

 gives gives m-nitroaniline 


Reason : m-nitroaniline formed gets precipitated

and hence further reduction is prevented
 (1) If

both assertion and reason are true and reason is

the correct explanation of assertion.
 (2) If both

assertion and both reason are true and reason is

not the correct explanation of assertion
 (3) If

(NH4)2S

https://dl.doubtnut.com/l/_Rw5fP3L7qWsS
https://dl.doubtnut.com/l/_IxDi7kXDJ1wV


assertion is true but reason is false
 (4) If both

assertion and reason are false

A. If both assertion and reason are true and

reason is the correct explanation of

assertion.

B. If both assertion and both reason are true

and reason is not the correct explanation of

assertion

C. If assertion is true but reason is false

D. If both assertion and reason are false

Answer:

https://dl.doubtnut.com/l/_IxDi7kXDJ1wV


Watch Video Solution

22. Assertion : Pyrrole is more basic than pyridine 

Reason : In pyrrole N is  hybridised.

A. If both assertion and reason are true and

reason is the correct explanation of

assertion.

B. If both assertion and both reason are true

and reason is not the correct explanation of

assertion

C. If assertion is true but reason is false

sp3

https://dl.doubtnut.com/l/_IxDi7kXDJ1wV
https://dl.doubtnut.com/l/_hTttp2M1y31B


D. If both assertion and reason are false

Answer:

Watch Video Solution

23. Assertion : Controlled nitration of aniline at

low temperature gives m-nitroaniline as one of the

major product.s 

Reason : In acidic medium,  group is

converted to  group which is m-directing.

−NH2

+

−NH3

https://dl.doubtnut.com/l/_hTttp2M1y31B
https://dl.doubtnut.com/l/_MR1kjQVFmZIO


A. If both assertion and reason are true and

reason is the correct explanation of

assertion.

B. If both assertion and both reason are true

and reason is not the correct explanation of

assertion

C. If assertion is true but reason is false

D. If both assertion and reason are false

Answer:

Watch Video Solution

https://dl.doubtnut.com/l/_MR1kjQVFmZIO


24. Assertion : p-fluoroanilinium ion is more acidic

than anilinium ion 

Reason : Electron density in the N-H bond of p-

fluoroanilinium ion decreases and releases a

proton more readily than from anilinium ion

A. If both assertion and reason are true and

reason is the correct explanation of

assertion.

B. If both assertion and both reason are true

and reason is not the correct explanation of

assertion

https://dl.doubtnut.com/l/_UxtYFfXvODID


Level I

C. If assertion is true but reason is false

D. If both assertion and reason are false

Answer:

Watch Video Solution

1. Which compounds reacts most readily in the

nitration reaction?: , , , 

https://dl.doubtnut.com/l/_UxtYFfXvODID
https://dl.doubtnut.com/l/_LIZaNvUFfnrN


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2. Which could not be directly prepared from 4-

bromobenzenediazonium ion?

https://dl.doubtnut.com/l/_LIZaNvUFfnrN
https://dl.doubtnut.com/l/_uwtMFDP6ChGs


A. Bromobenzene

B. 1,4-dibromobenzene

C. 4-bromofluorobenzene

D. 4-bromoacetophenone

Answer: D

Watch Video Solution

3. Which of the following represents a resonance

form of the intermediate formed during

bromination of aniline?

https://dl.doubtnut.com/l/_uwtMFDP6ChGs
https://dl.doubtnut.com/l/_ruEP0coekE0H


A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_ruEP0coekE0H


Answer: B

Watch Video Solution

4. Which of the following is used for the

preparation of a primary amine having one C-atom

more than the starting haloalkane?

A. Reaction with aqueous KCN followed by

reduction

B. Reaction with AgCN followed by reduction

C. Reaction with aqueous NH3

https://dl.doubtnut.com/l/_ruEP0coekE0H
https://dl.doubtnut.com/l/_by79k84j5f38


D. All of the above

Answer: A

Watch Video Solution

5. Aniline is more stable than anilinium ion

because

A. it has more resonating structures than

anilinium ion

B. it has less resonating structures than

anilinium ion

https://dl.doubtnut.com/l/_by79k84j5f38
https://dl.doubtnut.com/l/_vpFpP2IqtKiC


C. it has more -bonding than anilinium ion

D. None of the above

Answer: A

Watch Video Solution

π

6. N,N-diethyl benzene sulphonamide is not acidic

because

A. It does not contain unshared pair of

electron on N-atom

B. It does not contain H-atom with the N-atom

https://dl.doubtnut.com/l/_vpFpP2IqtKiC
https://dl.doubtnut.com/l/_G91R0XBjXsw4


C. It contains-OH group with N-atom

D. All of the above

Answer: B

Watch Video Solution

7. When methyl iodide is heated with ammonia,

the product(s) obtained is/are:

A. Methylamine

B. Dimethylamine

C. Trimethylamine

https://dl.doubtnut.com/l/_G91R0XBjXsw4
https://dl.doubtnut.com/l/_yaPCKdvzEQKG


D. A mixture of the above three amines

Answer: D

Watch Video Solution

8. Which of the following statements about

primary amines is 'False'?

A. Alkyl amines are stronger bases than aryl

amines

B. Alkyl amines react with nitrous acid to

produce alcohols

https://dl.doubtnut.com/l/_yaPCKdvzEQKG
https://dl.doubtnut.com/l/_PsB9fUEZ8Es3


C. Aryl amines react with nitrous acid to

produce phenols

D. Alkyl amines are stronger bases than

ammonia

Answer: C

Watch Video Solution

9. Which of the following reacts with chloroform

and a base to form phenyl isocyanide?

A. Aniline

https://dl.doubtnut.com/l/_PsB9fUEZ8Es3
https://dl.doubtnut.com/l/_DwyhPElyhJCn


B. Phenol

C. Benzene

D. Nitrobenzene

Answer: A

Watch Video Solution

10. The amine which can react with

 to form a product insoluble in

alkali shall be

A. Primary amine

C6H5 − SO2 − Cl

https://dl.doubtnut.com/l/_DwyhPElyhJCn
https://dl.doubtnut.com/l/_x99mDSNemp3h


B. Secondary amine

C. Tertiary amine

D. Both primary and secondary amines

Answer: B

Watch Video Solution

11. Among the following compounds  , 

 , , and , the least basic

compound is

A. 

C3H7NH2

NH3 CH3NH2 C6H5NH2

C3H7NH2

https://dl.doubtnut.com/l/_x99mDSNemp3h
https://dl.doubtnut.com/l/_vgZWvyUTEI16


B. 

C. 

D. 

Answer: D

Watch Video Solution

NH3

CH3NH2

C6H5NH2

12. Which one of the following on reduction with

lithium aluminium hydride yields a secondary

amine?

A. Methyl isocyanide

https://dl.doubtnut.com/l/_vgZWvyUTEI16
https://dl.doubtnut.com/l/_33WNUf01ZYyX


B. Acetamide

C. Methyl cyanide

D. Nitroethane

Answer: A

Watch Video Solution

13. The reduction of nitro compounds is most

preferred in the presence of

A.  in ethanol

B. Sn + HCl

Pd/H2

https://dl.doubtnut.com/l/_33WNUf01ZYyX
https://dl.doubtnut.com/l/_34B0i0VCVhK2


C. finely divided Ni

D. iron scrap and HCI

Answer: D

Watch Video Solution

14. Ethyl isocyanide on hydrolysis in acidic medium

generates

A. propanoic acid and ammonium salt

B. ethanoic acid and ammonium salt

C. methylamine salt and ethanoic acid

https://dl.doubtnut.com/l/_34B0i0VCVhK2
https://dl.doubtnut.com/l/_LHYZtfnM5yi4


D. ethylamine salt and methanoic acid

Answer: D

Watch Video Solution

15. Which of the following gives propylamine upon

hydrolysis? : , 

,

,

A. 

CH3CH2C ≡ N

(CH3CH2CH2)2NH

CH3 −

O

∣ ∣

C − NHCH2CH2CH3

CH3CH2 − CH = NH

CH3CH2C ≡ N

https://dl.doubtnut.com/l/_LHYZtfnM5yi4
https://dl.doubtnut.com/l/_y8KXqYxFtcfx


B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3CH2CH2)2NH

CH3 −

O

∣ ∣

C − NHCH2CH2CH3

CH3CH2 − CH = NH

16. Select the incorrect statement.

A. Methyl cyanide is reduced to methyl amine

by LiAlH4

https://dl.doubtnut.com/l/_y8KXqYxFtcfx
https://dl.doubtnut.com/l/_Xan3PBZJ51fL


B. Methyl isocyanide is hydrolysed to methyl

amino

C. Homologated  amine is obtained in the

process 

D. Acetamide is reduced to ethyl amine by

Answer: A

Watch Video Solution

1∘

R − Br
NaCN
−−−→

LiAlH4

−−−→

LiAIH4

https://dl.doubtnut.com/l/_Xan3PBZJ51fL


17. Cope elimination is an intramolecular 

reaction because : It is given by tertiary amine,
 It is

given by tertiary amine oxide containing B-

hydrogen,
 The nucleophile and leaving group are

in the same molecule,
 The less substituted alkene

is the major product

A. It is given by tertiary amine

B. It is given by tertiary amine oxide containing

B-hydrogen

C. The nucleophile and leaving group are in the

same molecule

E2

https://dl.doubtnut.com/l/_0LGQgek5dyy9


D. The less substituted alkene is the major

product

Answer: C

Watch Video Solution

18. Which is most volatile?

A. 

B. 

C. 

CH3CH2CH2NH2

(CH3)3N

https://dl.doubtnut.com/l/_0LGQgek5dyy9
https://dl.doubtnut.com/l/_dOm2sgldQz8F


D. 

Answer: B

Watch Video Solution

CH3CH2CH3

19. Which has maximum boiling point? :

A. 

B. 

C. 

D. 

(CH3)3N

https://dl.doubtnut.com/l/_dOm2sgldQz8F
https://dl.doubtnut.com/l/_guI8nLXWcUBt


Answer: D

Watch Video Solution

20. The product formed by the reaction of

acetamide with bromine in the presence of NaOH

is

A. 

B. 

C. 

D. 

CH3CN

CH3CHO

CH3CH2OH

CH3NH2

https://dl.doubtnut.com/l/_guI8nLXWcUBt
https://dl.doubtnut.com/l/_LCXZj0TAo7EB


Answer: D

Watch Video Solution

21. Acetamide and ethyl amine are distinguished

by reacting with

A.  water

B. acidic 

C. aq. NaOH and heat

D. aq. HCl and heat

Answer: C

Br2

KMnO4

https://dl.doubtnut.com/l/_LCXZj0TAo7EB
https://dl.doubtnut.com/l/_lBY2l3qJUwx2


Watch Video Solution

22. The reaction in which primary amine is not

formed

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3NC
LiAH4

−−−→

CH3CONH2

LiAH4

−−−→

CH3CN
LiAH4

−−−→

CH3CONH2

KOH /Br2
−−−−−−→

https://dl.doubtnut.com/l/_lBY2l3qJUwx2
https://dl.doubtnut.com/l/_TY3pxgkBvBCg


23. Which of these alkyl halides can be used to

prepare amines using Gabriel phthalimide

synthesis?

A. Vinyl bromide

B. 1-Bromo-3-methylpentane

C. Bromobenzene

D. 2-Bromo-2, 3-dimethylbutane

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_TY3pxgkBvBCg
https://dl.doubtnut.com/l/_OcZicrnVOGvl
https://dl.doubtnut.com/l/_XGqW9oZt4Eyp


24. Which one of the following methods is neither

meant for the synthesis nor for separation of

amines?

A. Hinsberg method

B. Hofmann method

C. Wurtz reaction

D. Curtius reaction

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_XGqW9oZt4Eyp
https://dl.doubtnut.com/l/_4vRWVqdYvY1F


25. Considering the basic strength of amines in

aqueous solution, which one has the smallest 

value?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

pKb

(CH3)2NH

CH3NH2

(CH3)3N

C6H5NH2

https://dl.doubtnut.com/l/_4vRWVqdYvY1F


26. In the chemical reaction, CH 3
 ​	 CH 2
 ​	 NH 2
 ​	 +

CHCl 3
 ​	 + 3KOH → (A) + (B) + 3H 2
 ​	 O, the

compounds(A) and (B) are respectively :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

C2H5CN and 3KCl

CH3CH2CONH2 and 3KCl

C2H5NC and K2CO3

C2H5NC and 3KCl

https://dl.doubtnut.com/l/_n24JmZsNFni7
https://dl.doubtnut.com/l/_t1cDWGdqGWGC


27. The final product formed when ethyl amine is

treated with  and HCl is

A. diazomethane

B. ethyl alcohol

C. methyl cyanide

D. nitromethane

Answer: B

Watch Video Solution

NaNO2

https://dl.doubtnut.com/l/_t1cDWGdqGWGC


28. Conversion of benzene diazonium chloride to

chlorobenzene is an example of which of the

following reactions?

A. Claisen

B. Friedel-Craft

C. Sandmeyer

D. Wurtz

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_M3GLYv3Wd0ZS
https://dl.doubtnut.com/l/_eZmFy3jg4Zyh


29. Arrange the following compounds in

decreasing order of their basic character. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

I > II > III

II > III > I

III > II > I

I > III > II

https://dl.doubtnut.com/l/_eZmFy3jg4Zyh


Watch Video Solution

30. What is the end product in the following

sequence of reactions? 

Acetamide 

A. Methylamine

B. Ethylamine

C. Methyl isocyanide

D. Ammonium acetate

Answer: B

Watch Video Solution

P2O5

−−→
Heat

A
[H ]

−−−→
Zn/HCl

B

https://dl.doubtnut.com/l/_eZmFy3jg4Zyh
https://dl.doubtnut.com/l/_b6oMgwWl8bRU


31. Which of the following cannot produce

hydrogen when treated with metallic sodium? :

, , , 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3NH2 (CH3)3N (CH3)2NH C6H5NH2

CH3NH2

(CH3)3N

(CH3)2NH

C6H5NH2

https://dl.doubtnut.com/l/_b6oMgwWl8bRU
https://dl.doubtnut.com/l/_TwFKIEWJwZcK


32. Consider the synthesis below. What is reagent

Z? 

A. 

B. 

C. 

D. 

CuCl

CuCl2

NaCl

KCl

https://dl.doubtnut.com/l/_mv4z7GsDfTW9


Answer: A

Watch Video Solution

33. The reduction of which of the following

compounds would yield secondary amine?

A. Alkyl nitrile

B. Carbylamine

C. Primary amine

D. Secondary nitro compounds

Answer: B

https://dl.doubtnut.com/l/_mv4z7GsDfTW9
https://dl.doubtnut.com/l/_PINEphoyNbbF


Watch Video Solution

34. Lowest boiling point will be of the compound

A. Ethylamine

B. Ethylmethylamine

C. 1-Propanamine

D. N,N-Dimethylmethanamine

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_PINEphoyNbbF
https://dl.doubtnut.com/l/_BHwJBIIpr7kg
https://dl.doubtnut.com/l/_BlMq53a4Bqit


35. Which of the following can be detected by

carbylamine reaction-

A. Urea

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3CONH2

C2H5NH2

C2H5NHCH3

https://dl.doubtnut.com/l/_BlMq53a4Bqit


36. Which of the following is produced by reducing

RCN in sodium and alcohol?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

RCONH2

RCOONH4

RCH2NH2

(RCH2)3N

https://dl.doubtnut.com/l/_MCEKRbQZBeCu


37. When a solution of aliphatic amine is treated

with  the effervescence occurs due to the

formation of

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

HNO2

CO2

NO2

N2

H2

https://dl.doubtnut.com/l/_YB9ACeDGFOdf
https://dl.doubtnut.com/l/_I5IBB8z4AJD8


38. The compound which on reaction with

aqueous nitrous acid at a low temperature

produces an oily nitrosamine is

A. diethyl amine

B. ethyl amine

C. aniline

D. methyl amine

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_I5IBB8z4AJD8


39. Which of the following can not give Hoffmann's

bromamide reaction:

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

Me −

O

∣ ∣

C − NH − Br

Me −

O

∣ ∣

C − NH − Me

https://dl.doubtnut.com/l/_aJIGhFE3RgP0


40. Which of the following is the weakest Bronsted

base?

A. 

B. 

C. 

D. CH3NH2

https://dl.doubtnut.com/l/_aJIGhFE3RgP0
https://dl.doubtnut.com/l/_ZBUp2MynqgAi


Answer: A

Watch Video Solution

41. In the nitration of benzene using a mixture of

conc.  and conc. , the species which

initiates the reaction is ............

A. 

B. 

C. 

D. 

H2SO4 HNO3

NO2

NO+

NO+
2

NO−
2

https://dl.doubtnut.com/l/_ZBUp2MynqgAi
https://dl.doubtnut.com/l/_psk66yLZba5O


Answer: C

Watch Video Solution

42. The most reactive amine towards dilute

hydrochloric acid is ............

A. 

B. 

C. 

CH3 − NH2

https://dl.doubtnut.com/l/_psk66yLZba5O
https://dl.doubtnut.com/l/_CXexiRQiJJhz


D. 

Answer: B

Watch Video Solution

43. Best method for preparing aliphatic primary

amines from alkyl halides without changing the

number of carbon atoms in the chain is

A. Hofmann bromamide reaction

https://dl.doubtnut.com/l/_CXexiRQiJJhz
https://dl.doubtnut.com/l/_VuOwp7QXvQye


B. Gabriel phthalimide synthesis

C. Sandmeyer reaction

D. Reaction with 

Answer: B

Watch Video Solution

NH3

44. The electrolytic reduction of nitrobenzene in

strongly acidic medium produces

A. azobenzene

B. aniline

https://dl.doubtnut.com/l/_VuOwp7QXvQye
https://dl.doubtnut.com/l/_ja1toofz5U7g


C. p-aminophenol

D. azoxybenzene

Answer: C

Watch Video Solution

45. m-Bromoaniline can be prepared by

A. 

B. 

C. 

D. 

C6H6

HNO3

−−−→
H2SO4

1 .Sn−HCl
−−−−−−−→
2 .NaO ,H2O

Br2
−−→
H2O

C6H6

Br2
−−−→
FeBr2

HNO3

−−−→
H2SO4

H2

−−→
Pt

m − BrC6H4COOH
SOCl2
−−−→

NH3

−−→
Br2 ,NaOH
−−−−−−→

C6H5NH2

NaNO2 ,HCl
−−−−−−−→

Cu2Br2

SOCl2
−−−→

NaNH2

−−−−→

https://dl.doubtnut.com/l/_ja1toofz5U7g
https://dl.doubtnut.com/l/_IlqoW7mkCTIe


Answer: C

Watch Video Solution

46. The following reaction 

 is known

by the name

A. Perkin's reaction

B. Acetylation reaction

C. Schotten-Baumann reaction

D. Friedel-Craft's reaction

https://dl.doubtnut.com/l/_IlqoW7mkCTIe
https://dl.doubtnut.com/l/_zuj6ntXcgyeS


Answer: C

Watch Video Solution

47. In the diazotisation of aniline with sodium

nitrite and hydrochloric acid, the excess of

hydrochloric acid is used primarily to

A. suppress the concentration of free aniline

B. suppress the hydrolysis to phenol

C. ensure a stochiometric amount of nitrous

acid

https://dl.doubtnut.com/l/_zuj6ntXcgyeS
https://dl.doubtnut.com/l/_45Abc8w46tGW


D. neutralise the base liberated

Answer: A

Watch Video Solution

48. Which of the following is not the correct

reaction of aryl diazonium salts?

A. 

B. 

C. 

C6H5N
+
2 Cl− +Cu2Cl2 → C6H5Cl

C6H5N
+
2 Cl− +HBF4

Heat
−−→ C6H5F

C6H5N
+
2 Cl− +H3PO2 → C6H5PO4

https://dl.doubtnut.com/l/_45Abc8w46tGW
https://dl.doubtnut.com/l/_6UU6BYq7zy8c


D. 

Answer: C

Watch Video Solution

C6H5N
+
2 Cl− +SnCl2 /HCl → C6H5NHNH2

49. Hinsberg's reagent is:

A. benzene sulphonamide

B. benzene sulphonic acid

C. benzene sulphuryl chloride

D. benzene sulphonyl chloride

https://dl.doubtnut.com/l/_6UU6BYq7zy8c
https://dl.doubtnut.com/l/_3eiwn4QVgTGf


Answer: D

Watch Video Solution

50. Methyl ethyl propyl amine forms non-

superimposable mirror images but it does not

show optical activity because:

A. of rapid flipping

B. amines are basic in nature

C. nitrogen has a lone pair of electrons

D. of absence of asymmetric nitrogen

https://dl.doubtnut.com/l/_3eiwn4QVgTGf
https://dl.doubtnut.com/l/_xpIensNUhwRz


Level Ii

Answer: A

Watch Video Solution

1. Which is the starting reagent used to make the

given azo compound? 

A. 

https://dl.doubtnut.com/l/_xpIensNUhwRz
https://dl.doubtnut.com/l/_oreLYJGNnKbI


B. 

C. p-ethylaniline and phenol

D. Aniline and p-ethylphenol

Answer: C

Watch Video Solution

2. Choose the reaction sequence that could be

used in the following tranformation. 

https://dl.doubtnut.com/l/_oreLYJGNnKbI
https://dl.doubtnut.com/l/_89Pgf6PJLrXJ


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

HNO3
−−−→
H2SO4

Br2
−−−→
FeBr3

HNO3
−−−→
H2SO4

NBS
−−→

NaNO2
−−−−→
HCl

Br2
−−−→
FeBr3

Br2
−−−→
FeBr3

HNO3
−−−→
H2SO4

https://dl.doubtnut.com/l/_89Pgf6PJLrXJ
https://dl.doubtnut.com/l/_rPB7BEumKjIs


3. Rank the following compounds in terms of their

relative reactivity in nitration. 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

IV > II > III > I > V

V > I > III > II > IV

III > II > IV > I > V

V > I > IV > II > III

https://dl.doubtnut.com/l/_rPB7BEumKjIs
https://dl.doubtnut.com/l/_hgBjtfuvoeha


4. The aromatic heterocyclic base pyridine is

sulphonated by heating with conc. sulphuric acid.

Which of the following statements about this

reaction is correct?

A. Pyridine reacts more rapidly than benzene

and is sulphonated at C-3

B. Pyridine reacts more rapidly than benzene

and is sulphonated at C-2 and C-4

C. Pyridine reacts more slowly than benzene

and is sulphonated at C-3

https://dl.doubtnut.com/l/_hgBjtfuvoeha


D. Pyridine reacts more slowly than benzene

and is sulphonated at C-2 and C-4

Answer: C

Watch Video Solution

5. In which of the following compounds is there

the least delocalization of the lone pair of

electrons on the nirtogen atom?

https://dl.doubtnut.com/l/_hgBjtfuvoeha
https://dl.doubtnut.com/l/_xw4eQwkL5ops


A. 

B. 

C. 

D. 

Answer: D

https://dl.doubtnut.com/l/_xw4eQwkL5ops


Watch Video Solution

6. Give the reagents that will best accomplish the

following transformation 

A. 

B. Acetone/Heat

C. /Heat

D. 

NaOH /CH3CH2OH /CrO3,H2O/H2SO4

CH3CHO

(CH3CO)2O

https://dl.doubtnut.com/l/_xw4eQwkL5ops
https://dl.doubtnut.com/l/_347RFoZjW1vw


Answer: D

Watch Video Solution

7. Which of the following statements is/are true

about amines?

A. A. Amine salts are soluble in ether but

insoluble in water

B. B. Amines have an unshared pair of electrons

on nitrogen atom due to which they behave

as Lewis acid

https://dl.doubtnut.com/l/_347RFoZjW1vw
https://dl.doubtnut.com/l/_BoYPwwCot01X


C. C. Basic character of amines can be

understood in terms of their  and 

values

D. D. All of the above

Answer: C

Watch Video Solution

Kb pKb

8. Arrange the following structure of quaternary

salt in the decreasing order of stability by

https://dl.doubtnut.com/l/_BoYPwwCot01X
https://dl.doubtnut.com/l/_uXWfQT2L4JOw


solvation. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

I > II > III

I > III > II

II > III > I

II > I > III

https://dl.doubtnut.com/l/_uXWfQT2L4JOw


9. Which of the following statements are correct? 

1.In Sandmeyer reaction nucleophile like

 are introduced in benzene

ring in the presence of  ion 


(ii) In Galtermann reaction nucleophiles are

introduced in benzene ring in the presence of

copper powder and HCI 

3. The yield in Gattermann reaction is found to be

better than Sandmeyer reaction .

A. (i) and (ii)

B. (i), (ii) and (iii)

C. (ii) and (iii)

Cl− , Br− and CN −

Cu+

https://dl.doubtnut.com/l/_DwOe8iaC9c00


D. (i) and (iii)

Answer: A

Watch Video Solution

10. Indicate which nitrogen compound amongst

the following would undergo Hoffmann

bromamide reaction to furnish the primary amine

.

A. 

B. 

(R − NH2)

RCONHCH3

RCOONH4

https://dl.doubtnut.com/l/_DwOe8iaC9c00
https://dl.doubtnut.com/l/_fSVbfizOI7gf


C. 

D. 

Answer: C

Watch Video Solution

RCONH2

R − CO − NHOH

11. Reagents capable of converting cyclohexanone

to N-ethyl cyclohexylamine is 

https://dl.doubtnut.com/l/_fSVbfizOI7gf
https://dl.doubtnut.com/l/_XsWvP1JJc6Nj


A. 

B. 

C. 

D.  followed by  and then 

Answer: B

Watch Video Solution

CH3CH2Br and NH3

CH3CH2NH2 and H2 /Pt

CH3CH = O and NH3

LiAlH4 H2O

CH3CH2Br

12. Which has the highest value of  ?pkb

https://dl.doubtnut.com/l/_XsWvP1JJc6Nj
https://dl.doubtnut.com/l/_AVQL8OLF1e75


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_AVQL8OLF1e75


13.  on reaction with  forms

tertiary alcohol. Thus,  is

A. Primary amine

B. Secondary amine

C. Tertiary amine

D. Quaternary ammonium salt

Answer: A

Watch Video Solution

C4H11N HNO2

C4H11N

https://dl.doubtnut.com/l/_BZECN5xKcMnR


14. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_lBBdefD7S02U


15. Hofmann's elimination product of 

A. 

B. 

https://dl.doubtnut.com/l/_lBBdefD7S02U
https://dl.doubtnut.com/l/_ME9HWxLtMijW


C. 

D. 

Answer: A

Watch Video Solution

16. Basic nature of the following is in order 

A. I < II < III < IV

https://dl.doubtnut.com/l/_ME9HWxLtMijW
https://dl.doubtnut.com/l/_6yUc7e2ML8rS


B. 

C. 

D. 

Answer: A

Watch Video Solution

IV < II < III < I

I < III < IV < II

II < IV < III < I

17. The major products from the following

sequence of reactions are 

A. 

(CH3)2CHCH2N(CH2CH3)2
CH3I
−−→

Ag2O

−−→
H2O

heat
−−→ ?

(CH3)2CHCH2NH2 + H2C = CH2

https://dl.doubtnut.com/l/_6yUc7e2ML8rS
https://dl.doubtnut.com/l/_vhltadLNUH5T


B. 

C. 

D. 

Answer: C

Watch Video Solution

(CH3)2NCH2CH3 + H2C = C(CH3)2

(CH3)2CHCH2

CH3

∣

N CH2CH3 + H2C = CH2

(CH3)3

+

NCH2CH3I
− +H2C = CH2

18. What is the product of the following reaction? 

https://dl.doubtnut.com/l/_vhltadLNUH5T
https://dl.doubtnut.com/l/_Q2FfxlL2qwK4


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

19. The reaction of chloroform with alcoholic KOH

and p-toluidine forms

https://dl.doubtnut.com/l/_Q2FfxlL2qwK4
https://dl.doubtnut.com/l/_KPJ6m7prUfpu


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KPJ6m7prUfpu


20. In the chemical reaction

 the

compounds A and B, respectively are

A. nitrobenzene and chlorobenzene

B. nitrobenzene and flurobenzene

C. phenol and benzene

D. benzene diazonium chloride and

flurobenzene

https://dl.doubtnut.com/l/_lefrNAkv9DGT


Answer: D

Watch Video Solution

21. Which of the following is the correct statement

about coupling reaction of diazonium salts?

A. In coupling reactions, diazonium ion works

as a nucleophile

B. Coupling takes place almost exclusively at

the ortho position with aniline and phenol

https://dl.doubtnut.com/l/_lefrNAkv9DGT
https://dl.doubtnut.com/l/_2nJYHoPIIamN


C. Coupling with phenol and aniline is most

rapid in slightly acidic medium

D. Coupling with phenol is most rapid in

slightly basic medium

Answer: D

Watch Video Solution

22. Identify the end product Z in the following

sequence. 

C6H5NH2

NaNO2 /HCl

−−−−−−−→
320K

X
aq .NaOH
−−−−−→ Y

C2H5I
−−−→ Z

https://dl.doubtnut.com/l/_2nJYHoPIIamN
https://dl.doubtnut.com/l/_UtK279cFZkVy


A. 

B. 

C. 

D. 

Answer: B

https://dl.doubtnut.com/l/_UtK279cFZkVy


Watch Video Solution

23. Arrange the following amines in order of

increasing basicity (least to most) in aqueous

solution: 

A. 

B. 

C. 

D. 

IV < II < I < III

III < II < IV < I

III < I < II < IV

II < III < I < IV

https://dl.doubtnut.com/l/_UtK279cFZkVy
https://dl.doubtnut.com/l/_Xyprhv7N89tj


Answer: A

Watch Video Solution

24. Aniline is treated with bromine water and the

resulting product is treated with an aqueous

soluition of sodium nitrite in presence of dilute

HCl. The compound so formed is converted into

tetrafluoroborate which is subsequently heated

dry. The final product is

A. p-bromofluorobenzene

B. p-bromoaniline

https://dl.doubtnut.com/l/_Xyprhv7N89tj
https://dl.doubtnut.com/l/_2m5i1H4PPbhz


C. 2,4,6-tribromofluorobenzene

D. 1,3,5-tribromobenzene

Answer: C

Watch Video Solution

25.  In the

above sequence, II is

A. alanine

https://dl.doubtnut.com/l/_2m5i1H4PPbhz
https://dl.doubtnut.com/l/_72SlA6ZeZjT1


B. glycine

C. ethylenediamine

D.  -aminobutyric acid

Answer: A

Watch Video Solution

γ

26. Determine the end product of the following

reactions 

A. ethyl cyanide

C2H5NH2

HNO2

−−−→ A
PCl5
−−→ B

NH3

−−→ C

https://dl.doubtnut.com/l/_72SlA6ZeZjT1
https://dl.doubtnut.com/l/_dm80yCsrCPfU


B. methyl amine

C. ethyl amine

D. acetamide

Answer: C

Watch Video Solution

27. Benzylamine may be alkylated as shown in the

following equation: 

.

Which of the following alkyl halides is beset suited

for this reaction through  1 mechanism ?

C6H5CH2NH2 + R − X → C6H5CH2NHR

SN

https://dl.doubtnut.com/l/_dm80yCsrCPfU
https://dl.doubtnut.com/l/_Nzg2FxEEj8RR


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3Br

C6H5Br

C6H5CH2Br

C2H5Br

28. Which of the following reagents would not be

a good choice for reducing an aryl nitro

compound to an amine?

https://dl.doubtnut.com/l/_Nzg2FxEEj8RR
https://dl.doubtnut.com/l/_rEJH8mE9cgI4


A.  (excess) Pt

B.  in ether

C. Fe and HCl

D. Sn and HCl

Answer: B

Watch Video Solution

H2

LiAlH4

29. Amongst the given set of reactants, the most

appropriate for preparing  amine is.......

A. 

2∘

2∘R − Br + NH3

https://dl.doubtnut.com/l/_rEJH8mE9cgI4
https://dl.doubtnut.com/l/_djinv5tbDD6R


B. followed by 

C.  followed by 

D. None of these

Answer: C

Watch Video Solution

2∘R − Br + NaCN H2 /Pt

1∘R − NH2 + RCHO H2 /Pt

30. Which of the following methods of preparation

of amines will not give same number of carbon

atoms in the chain of amines as in the reactant?

A. Reaction of alkyl nitrile with LiAIH4

https://dl.doubtnut.com/l/_djinv5tbDD6R
https://dl.doubtnut.com/l/_pe3hOUkW56Mm


B. Reaction of amide with  followed by

treatment with water

C. Heating alkyl halide with potassium salt of

phthalimide followed by hydrolysis

D. Treatment of amide with bromine in aqeous

solution of sodium hydroxide

Answer: D

Watch Video Solution

LiAIH4

https://dl.doubtnut.com/l/_pe3hOUkW56Mm


31. The product 'Y' in the following reaction

sequence is

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_DIFbLuW2ZfuZ


Answer: C

Watch Video Solution

32. Which one of the following nitro-compounds

does not react with nitrous acid?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_DIFbLuW2ZfuZ
https://dl.doubtnut.com/l/_YYh9dvX1IGIz


D. 

Answer: C

Watch Video Solution

33. An organic compound A upon reacting with

 gives B. On heating, B gives C. C in presence

of KOH reacts with  to give . A is

A. 

B. 

NH3

Br2 CH3CH2NH2

CH3CH2COOH

CH3COOH

https://dl.doubtnut.com/l/_YYh9dvX1IGIz
https://dl.doubtnut.com/l/_bFXIsqeDJ9W2


C. 

D. 

Answer: A

Watch Video Solution

CH3CH2CH2COOH

CH3 − C
∣

CH3

H − COOH

34. In a set of reactions, m-bromobenzoic acid

gave a product D. Identify the product D. 

https://dl.doubtnut.com/l/_bFXIsqeDJ9W2
https://dl.doubtnut.com/l/_k0iA7TbpfRF4


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_k0iA7TbpfRF4


35. The correct statement regarding the basicity of

arylamines is

A. arylamines are generally more basic than

alkylamines because of aryl group.

B. arylamines are generally more basic than

alkylamines because the nitrogen atom in

alkylamines is sp-hybridised.

C. arylamines are generally less basic than

alkylamines because the nitrogen lone-pair

https://dl.doubtnut.com/l/_IV2BRon1SEzF


electrons are delocalised by interaction with

the aromatic ring -electron system

D. arylamines are generally more basic than

alkylamines because the nitrogen lone-pair

electrons are not delocalised by interaction

with the aromatic ring -electron system.

Answer: C

Watch Video Solution

π

π

https://dl.doubtnut.com/l/_IV2BRon1SEzF


36. An organic compound 'A' on reduction gives

compound 'B' which on reaction with

trichloromethane and caustic potash forms 'C'.

The compound 'C' on catalytic reduction gives N-

methylbenzenamine, the compound 'A'is

A. nitrobenzene

B. nitromethane

C. methanamine

D. benzenamine

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_K2GPxp48AkO0


Watch Video Solution

37. Although amino group ls-o- and p- directing in

aromatic electrophilic substitution reactions,

aniline on nitration gives a substantial amount of

m-nltro aniline. Why?

A. In nitration mixture, ortho, para-activity of

 group is completely lost

B.  becomes  which is m-

directing

C.  becomes  which is m-

directing

NH2

−NH2 −NH +
3

−NH2 −NH +SO
−
4

https://dl.doubtnut.com/l/_K2GPxp48AkO0
https://dl.doubtnut.com/l/_HLc3xGdY7RJi


D.  becomes  which is m-

directing

Answer: B

Watch Video Solution

−NH2 −NH −NO+
2

38. The correct sequence of reactions to be

performed to convert benzene into m-

bromoaniline is

A. nitration, reduction, bromination

B. bromination, nitration, reduction

https://dl.doubtnut.com/l/_HLc3xGdY7RJi
https://dl.doubtnut.com/l/_3uwqJRzbSFva


C. nitration, bromination, reduction

D. reduction, nitration, bromination

Answer: C

Watch Video Solution

39. An amine reacts with benzene sulphonyl

chloride to form a white precipitate which is

insoluble in aq. NaOH. The amine is

A. 

https://dl.doubtnut.com/l/_3uwqJRzbSFva
https://dl.doubtnut.com/l/_XUKeuOaYX0IJ


B. 

C. 

D. 

Answer: B

Watch Video Solution

40. When propane is subjected to the treatment

with fuming nitric acid at 673 K, which of the

following will not be formed?

https://dl.doubtnut.com/l/_XUKeuOaYX0IJ
https://dl.doubtnut.com/l/_QzdJSQxg6fbo


A. 1-Nitropropane

B. 2-Nitropropane

C. Nitromethane

D. Nitrohexane

Answer: D

Watch Video Solution

41. A nitrogenous substance (X) is treated with

HNO, and the product so formed is further treated

with NaOH solution, which produces blue

colouration. Which of the following can(X) be?

https://dl.doubtnut.com/l/_QzdJSQxg6fbo
https://dl.doubtnut.com/l/_hwfA38CnC9OE


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3CH2NH2

CH3CH2NO2

CH3CH2ONO

(CH3)2CHNO2

42. Which of the following reactions does not yield

an amine?

A. R − X + NH3 →

https://dl.doubtnut.com/l/_hwfA38CnC9OE
https://dl.doubtnut.com/l/_r8FyNRXQbqYN


B. 

C. 

D. 

Answer: C

Watch Video Solution

R − CH = NOH + [H]
Na

−−−−→
C2H5OH

R − CN + H2O
H ⊕

−−→

R − CONH2 + 4[H]
LiAlH4

−−−→

43. The following reaction is: 

A. Benzidine rearrangement

https://dl.doubtnut.com/l/_r8FyNRXQbqYN
https://dl.doubtnut.com/l/_lPemtier1V3O


B. Pinacol-Pinacolone rearrangement

C. Fries rearrangement

D. Benzil-benzilic acid arrangement

Answer: A

Watch Video Solution

44. An amine on treatment with  evolved 

 . The amine on exhaustive methylation with 

 formed a quaternary salt containing 59.07%

iodine. The amine is likely to be:

HNO2

N2

CH3I

https://dl.doubtnut.com/l/_lPemtier1V3O
https://dl.doubtnut.com/l/_nIgEKGsQypeY


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CH3NH2

(CH3)2NH

C2H5NH2

(CH3)2N

45. Reaction of cyclohexanone with dimethylamine

in the presence of catalytic amount of an acid

forms a compound if water during the reaction is

https://dl.doubtnut.com/l/_nIgEKGsQypeY
https://dl.doubtnut.com/l/_KYpqlIGjtBxq


continuously removed. The compound formed is

generally known as

A. An enamine

B. a Schiff's base

C. an amine

D. an imine

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_KYpqlIGjtBxq


46. Which gives black precipitate on reaction with

 followed by addition of  ?

A. 

B. 

C. 

D. all the three

Answer: A

Watch Video Solution

CS2 HgCl2

(CH3)3CNH2

(C2H5)2NH

(CH3)3N

https://dl.doubtnut.com/l/_UN31Syobjk9x


47. Which among the following amines can be

directly oxidised to the corresponding nitro

compound by potassium permanganate?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH3NH2

(CH3)2CH − NH2

(CH3)2NH

(CH3)3C − NH2

https://dl.doubtnut.com/l/_JmEfN9GCbOBJ
https://dl.doubtnut.com/l/_ENrciqWa1MOg


48. Which of the following compounds will

dissolve in an alkali solution after it undergoes

reaction with Hinsberg's reagent?

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3NH2

(CH3)3N

(C2H5)2NH

C6H5NHC6H5

https://dl.doubtnut.com/l/_ENrciqWa1MOg


Level Iii Single Correct Answer Type

1. An organic compound  (A), when

treated with nitrous acid, gave a alcohol and 

gas was evolved. (A) on warming with  and

caustic potash gave (C) which on reduction gave

isopropylmethylamine. Predict the structure of(A)

A. 

B. 

C. 

D. 

(C3H9N)

N2

CHCl3

CH3CH2 − NH − CH3

CH3 − N
∣

CH3

− CH3

CH3CH2CH2 − NH2

https://dl.doubtnut.com/l/_Vw6x3cRogIvq


Answer: A

Watch Video Solution

2.  reacts with -unsaturated

ketone as shown 

 

Select the correct statements out of I, II and III. 

I. Product is by conjugate addition 

II. It is called Michael reaction 

III. Intermediate is Zwitter ion which tautomerises

after the proton transfer

CH3NH2 α − β

https://dl.doubtnut.com/l/_Vw6x3cRogIvq
https://dl.doubtnut.com/l/_e9X5y37htxUI


A. I,II

B. I,III

C. II,III

D. I,II,III

Answer: D

Watch Video Solution

3. In the reaction shown below, the major

product(s) formed is/are 

https://dl.doubtnut.com/l/_e9X5y37htxUI
https://dl.doubtnut.com/l/_0tjTVGmU7wRp


A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_0tjTVGmU7wRp


Answer: A

Watch Video Solution

4. What is the product of the following reaction? 

A. 

B. 

https://dl.doubtnut.com/l/_0tjTVGmU7wRp
https://dl.doubtnut.com/l/_e9YOh872Q3nu


C. 

D. 

Answer: C

Watch Video Solution

5. In the following reactions, the product S is, 

A. 

https://dl.doubtnut.com/l/_e9YOh872Q3nu
https://dl.doubtnut.com/l/_pNKmFHU9VyVt


B. 

C. 

D. 

Answer: B

Watch Video Solution

6. Treatment of cyclobutylmethylamine with

nitrous acid does not give

https://dl.doubtnut.com/l/_pNKmFHU9VyVt
https://dl.doubtnut.com/l/_tzsQ3UTl3pp0


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_tzsQ3UTl3pp0
https://dl.doubtnut.com/l/_kRjYXIk3hdiV


7. 4-Nitrotoluene is treated with bromine water to

get compound 'P'. P is reduced with Sn and HCl to

compound 'Q'. 'Q' is diazotised to and the product

is treated with phosphinic acid to get compound

'R'. It is oxidised with alkaline  to get

compound 'S' Compound 'S' is

A. 2-bromo-4-hydroxybenzoic acid

B. benzoic acid

C. 4-bromobenzoic acid

D. 2-bromobenzoic acid

Answer: D

KMnO4

https://dl.doubtnut.com/l/_kRjYXIk3hdiV


Level Iii Multiple Choice Answer Type

Watch Video Solution

1. Which of the following reaction(s) will give

nitrobenzene?

A. 

B. 

C. 

D. 

https://dl.doubtnut.com/l/_kRjYXIk3hdiV
https://dl.doubtnut.com/l/_XFpaIvvBvebT


Answer: A::D

Watch Video Solution

2. Diazonium salt of which of the following

substituted aromatic amine undergoes faster

couplings with phenol than benzenediazonium

chloride?

A. 

https://dl.doubtnut.com/l/_XFpaIvvBvebT
https://dl.doubtnut.com/l/_OfN5SxvWonLb


B. 

C. 

D. 

Answer: B::C

Watch Video Solution

https://dl.doubtnut.com/l/_OfN5SxvWonLb


Watch Video Solution

3. Which of the following reagent(s) can be used

for protection of amine  group of aniline

during electrophilic aromatic substitution

reaction and that too without changing

orientational effect?

A. 

B. 

C. 

D. 

( − NH2)

(CH3CO)2O

C6H5SO2Cl

KMnO4 /OH

C6H5COCl

https://dl.doubtnut.com/l/_OfN5SxvWonLb
https://dl.doubtnut.com/l/_DZFwgq8Vj5xJ


Answer: A::B::D

Watch Video Solution

4. When the dehydration of acetamide to

acetonitrile occurs, which of the following

observation can not take place?

A.  can be used as dehydrating agent

B. Hybridisation of carbon in reactant to

product changes  to sp

P2O5

sp2

https://dl.doubtnut.com/l/_DZFwgq8Vj5xJ
https://dl.doubtnut.com/l/_biUpOwm7L9At


C. N-atom of reactant is less basic than that of

product

D. This reaction is known as nucleophilic

substitution reaction

Answer: A::B::C

Watch Video Solution

5. By reacting with which of the following reagents

 will form a solid derivative?

A. 

CH3NH2

PhSO2Cl

https://dl.doubtnut.com/l/_biUpOwm7L9At
https://dl.doubtnut.com/l/_ylyolmJU7ndf


B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

(COOEt)2

H2SO4

CHCl3 + KOH

6. Which of the following statements is/are true

A. Acidic and alkaline hydrolysis of isocyanides

produce the same products

https://dl.doubtnut.com/l/_ylyolmJU7ndf
https://dl.doubtnut.com/l/_ttvZYyp59Zyj


B. Acidic and alkaline hydrolysis of cyanides

produce the same products

C. Cyanides on partial hydrolysis form amides

D. Among isomeric cyanides and isocyanides,

cyanides are higher boiling than isocyanides

Answer: C::D

Watch Video Solution

7. Which of the following give primary amine on

reduction?

https://dl.doubtnut.com/l/_ttvZYyp59Zyj
https://dl.doubtnut.com/l/_1jTEqGf8ARm0


A. 

B. 

C. 

D. 

Answer: A::B::C

Watch Video Solution

CH3 − CH2 − O − N = O

CH3CH2ONO2

CH3CH2CH2ONO2

CH3 − CH2 −

O

∣ ∣

N → O

8. The reagents used to distinguish between

 is/are(CH3)3N, (CH3)2NH

https://dl.doubtnut.com/l/_1jTEqGf8ARm0
https://dl.doubtnut.com/l/_KfmdXuerere2


A. Benzene sulphonyl chloride

B.  followed by 

C. Baeyer's reagent

D.  and HCI

Answer: A::B::D

Watch Video Solution

CS2 HgCl2

NaNO2

9. Which of the following statements are correct?

A. The extent of H-bonding is greater in 

than  and  amines

1∘

2∘ 3∘

https://dl.doubtnut.com/l/_KfmdXuerere2
https://dl.doubtnut.com/l/_8uIjbi6sAUyX


B. The boiling points of isomeric amines are in

the order: 

C. The boiling points of

D. The boiling points of

.

Answer: A::B::C

Watch Video Solution

1∘ > 2∘ > 3∘

C6H9NH2 > Me2N − Et > (C2H5)2NH

10. Which of the following statements are correct?

https://dl.doubtnut.com/l/_8uIjbi6sAUyX
https://dl.doubtnut.com/l/_ROGlLNknKweV


A. In gas phase, the basic character of amine is

. Due to the +I effect of 

, the availability of LP 's on N increases.

B. In aqueous medium, the basic character of

amine is

C. In aqueous medium, the addition of protons

increases crowding and thus strains setup,

which being the highest in  amine

decreases its basic character.

3∘ > 2∘ > 1∘ (R− )

ē

Me2NH > Me3N > MeNH2 > NH3

3∘

https://dl.doubtnut.com/l/_ROGlLNknKweV


D. In aqueous medium, the ammonium ions in

solution are stabilised not only by alkyl

groups but also by H-bond donation to the

solvent.

Answer: A::C::D

Watch Video Solution

11. A negative carbylamine test is given by

A. N,N-dimethylaniline

B. 2,4-dimethylaniline

https://dl.doubtnut.com/l/_ROGlLNknKweV
https://dl.doubtnut.com/l/_Z6Ovi7k8pBve


C. N-methyl-o-methylaniline

D. p-methylbenzylamine

Answer: A::C

Watch Video Solution

12. Examine the following structures for the

anilinium ion, and choose the correct statement

from the ones given below. 

https://dl.doubtnut.com/l/_Z6Ovi7k8pBve
https://dl.doubtnut.com/l/_bcqfb5wPkwF2


A. II is not an acceptable canonical structure

because carbonium ions are less stable than

ammonium ions

B. II is not an acceptable canonical structure

because it is not aromatic

C. II is not an acceptable canonical structure

because the nitrogen has 10 valence

electrons

D. II is an acceptable canonical structure

Answer: A::C

Watch Video Solution

https://dl.doubtnut.com/l/_bcqfb5wPkwF2


Level Iii Numerical Type

Watch Video Solution

1. The total number of lone-pairs of electrons in

melamine is.......

Watch Video Solution

2. The number of nitrogen atoms present in

chloramphenicol is......

Watch Video Solution

https://dl.doubtnut.com/l/_bcqfb5wPkwF2
https://dl.doubtnut.com/l/_ZLZqd6wyXz8q
https://dl.doubtnut.com/l/_IWT8tsYo0rX1


3. Number of structural isomers possible for the

molecular formula  is

Watch Video Solution

C3H9N

4. A compound with molecular mass 180 is

acylated with  to get a compound with

molecular mass 390. The number of amino groups

present per molecule of the former compound is

Watch Video Solution

CH3COCl

https://dl.doubtnut.com/l/_mijKeRN6wP5v
https://dl.doubtnut.com/l/_SchKMTYw9ZSN


Level Iii Matching Column Type

5. How many of the following amines will undergo

diazotisation? 

tert-Butylamine, ethanamine, aniline, N-

methylaniline, p-toluidine, m-chloroaniline, 2-

phenylethanamine o-anisidihe, 2,4,6-

tribromoaniline.

Watch Video Solution

https://dl.doubtnut.com/l/_9c507aHro6M1


1. Match the following columns : 

Watch Video Solution

https://dl.doubtnut.com/l/_NKrkywI742OC


2. Match the following columns : 

Watch Video Solution

https://dl.doubtnut.com/l/_vRfQb65JWEwq


3. Match the reaction with the product obtained 

Watch Video Solution

4. Match the reactant with the reaction it

undergoes. 

Watch Video Solution

https://dl.doubtnut.com/l/_CSXT6Zou4fin
https://dl.doubtnut.com/l/_VLyvVfwWx3Mk


Level Iii Statement Type

5. Matching 

Watch Video Solution

1. Statement 1 : Alkyl cyanide can be prepared by

carbylamine reaction. 

https://dl.doubtnut.com/l/_VLyvVfwWx3Mk
https://dl.doubtnut.com/l/_q3bTQvf50Y02
https://dl.doubtnut.com/l/_eaoFzEZFk1d4


Statement 2 : Ethyl amine when heated with

chloroform in presence of alcoholic KOH gives

isocyanide

A. Statement 1 is True, statement 2 is True,

Statement 2 is Correct explanation for

Statement 1.

B. Statement 1 is True, Statement 2 is True,

Statement 2 is NOT a correct explanation for

Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

https://dl.doubtnut.com/l/_eaoFzEZFk1d4


Answer: D

Watch Video Solution

2. Statement 1 : In strongly acidic solutions, aniline

becomes more reactive towards electrophilic

reagents 

Statement 2 : The amino group is protonated in

strongly acidic solution, and thus the lone pair of

electron on the nitrogen is no longer available for

resonance.

https://dl.doubtnut.com/l/_eaoFzEZFk1d4
https://dl.doubtnut.com/l/_KaWJar0Mpq1I


A. Statement 1 is True, statement 2 is True,

Statement 2 is Correct explanation for

Statement 1.

B. Statement 1 is True, Statement 2 is True,

Statement 2 is NOT a correct explanation for

Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_KaWJar0Mpq1I


3. Statement 1 Aromatic primary amines cannot be

prepared by Gabriel phthalimide synthesis. 

Statement 2 : Aryl halides do not undergo

electrophilic substitution with anion formed by

phthalimide.

A. Statement 1 is True, statement 2 is True,

Statement 2 is Correct explanation for

Statement 1.

B. Statement 1 is True, Statement 2 is True,

Statement 2 is NOT a correct explanation for

Statement 1.

https://dl.doubtnut.com/l/_KQj8yRxDSoiI


C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: C

Watch Video Solution

4. Statement 1 : Hofmann bromamide reaction

takes place between an amide and  in basic

medium. 

Statement 2: The reaction proceeds by the

formation of 

Br2

(R −
⋅ ⋅
N : )

https://dl.doubtnut.com/l/_KQj8yRxDSoiI
https://dl.doubtnut.com/l/_2Szy7G1JFBgK


A. Statement 1 is True, statement 2 is True,

Statement 2 is Correct explanation for

Statement 1.

B. Statement 1 is True, Statement 2 is True,

Statement 2 is NOT a correct explanation for

Statement 1.

C. Statement 1 is True, Statement 2 is False.

D. Statement 1 is False, Statement 2 is True.

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_2Szy7G1JFBgK


5. Statement 1 : Coupling of  with aniline

is faster than with phenol. 

Statement 2 : Aniline is more electron donating

than phenol.

A. Statement 1 is True, statement 2 is True,

Statement 2 is Correct explanation for

Statement 1.

B. Statement 1 is True, Statement 2 is True,

Statement 2 is NOT a correct explanation for

Statement 1.

C. Statement 1 is True, Statement 2 is False.

Ph
⊕

NH2

https://dl.doubtnut.com/l/_NrwKy4FDiJ48


Level Iii Linked Comprehension Type

D. Statement 1 is False, Statement 2 is True.

Answer: A

Watch Video Solution

1. Mixture of two isomeric amines A and

B was treated with benzene sulphonyl chloride

and  and ether were added. Two layers

were separated. Ethereal layer containing A on

acidification followed by distillation generates A .

(C2H7N)

NaOH

https://dl.doubtnut.com/l/_NrwKy4FDiJ48
https://dl.doubtnut.com/l/_x6KzymsuHaHg


Aqueous layer containing (B) followed by

acidification and distillation generates (B) 

Compound in ethereal layer is in the form

A. 

B. 

C. Both (A) and (B)

D. None of the above

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_x6KzymsuHaHg


2. Mixture of two isomeric amines A and

B was treated with benzene sulphonyl chloride

and  and ether were added. Two layers

were separated. Ethereal layer containing A on

acidification followed by distillation generates A .

Aqueous layer containing (B) followed by

acidification and distillation generates (B) 

Compound (A) is thus

A. 

B. 

C. Both (A) and (B)

(C2H7N)

NaOH

(CH3)2NH

CH3CH2NH2

https://dl.doubtnut.com/l/_kUh3B58SaF5g


D. None of the above

Answer: A

Watch Video Solution

3. Mixture of two isomeric amines A and

B was treated with benzene sulphonyl chloride

and  and ether were added. Two layers

were separated. Ethereal layer containing A on

acidification followed by distillation generates A .

Aqueous layer containing (B) followed by

(C2H7N)

NaOH

https://dl.doubtnut.com/l/_kUh3B58SaF5g
https://dl.doubtnut.com/l/_xBXo8jZGy3aS


acidification and distillation generates (B) 

Compound in aqueous layer is in the form of

A. 

B. 

C. 

D. None of the above

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_xBXo8jZGy3aS


4. Arene diazonium salts are more stable than

alkanediazonium salts due to dispersal of the

positive charge on the benzene ring. Obviously,

electron-donating groups favour diazotisation by

retarding the decomposition of diazonium salts to

phenyl cation. The high reactivity of

arenediazonium salts is due to the excellent

leaving ability of the diazo group as  gas. 

Consider the following ions: 

 

The reactivity of these ions towards azo coupling

reactions under similar conditions is

N2

https://dl.doubtnut.com/l/_U36LPjcQqxO7


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

I < IV < II < III

I < III < IV < II

III < I < II < IV

III < I < IV < II

5. Arene diazonium salts are more stable than

alkanediazonium salts due to dispersal of the

positive charge on the benzene ring. Obviously,

electron-donating groups favour diazotisation by

https://dl.doubtnut.com/l/_U36LPjcQqxO7
https://dl.doubtnut.com/l/_E35g63pzaXNa


retarding the decomposition of diazonium salts to

phenyl cation. The high reactivity of

arenediazonium salts is due to the excellent

leaving ability of the diazo group as  gas. 

Which of the following arylamines undergoes

diazotisation most readily?

A. 

B. 

C. 

D. 

Answer: C

N2

https://dl.doubtnut.com/l/_E35g63pzaXNa


Watch Video Solution

6. Arene diazonium salts are more stable than

alkanediazonium salts due to dispersal of the

positive charge on the benzene ring. Obviously,

electron-donating groups favour diazotisation by

retarding the decomposition of diazonium salts to

phenyl cation. The high reactivity of

arenediazonium salts is due to the excellent

leaving ability of the diazo group as  gas. 

The product formed when bromobenzene reacts

with benzenediazonium chloride in presence of

NaOH is

N2

https://dl.doubtnut.com/l/_E35g63pzaXNa
https://dl.doubtnut.com/l/_ughsvRw91tAB


A. diphenyl

B. p-bromodiphenyl

C. p,p'-dibromodiphenyl

D. p-bromoazobenzene

Answer: B

Watch Video Solution

7. All aliphatic amines are more basic than

ammonia but due to delocalization of lone pair of

electrons of the nitrogen atom on the benzene

ring, aniline is a weaker base than ammonia. The

https://dl.doubtnut.com/l/_ughsvRw91tAB
https://dl.doubtnut.com/l/_un3FV7CJNnGt


basic strength of the substituted anilines,

however, depends upon the nature of the

substituent. Whereas electron-donating groups

tend to increase, electron-withdrawing groups

tend to decrease the basic strength. The base

strengthening effect of the electron-donating

groups and base weakening effect of the electron-

withdrawing groups is, however ,more

pronounced at p-than at m-position. However, due

to ortho effect, o-substituted anilines are weaker

bases than anilines regardless of the nature of

substituent whether electron-donating or

electron-withdrawing. 

Arrange the following amines in decreasing order

https://dl.doubtnut.com/l/_un3FV7CJNnGt


of their basic strength 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

I > II > III > IV

I > IV > II > III

II > I > IV > III

I > IV > III > II

https://dl.doubtnut.com/l/_un3FV7CJNnGt
https://dl.doubtnut.com/l/_fbW6TXckEVqD


8. All aliphatic amines are more basic than

ammonia but due to delocalization of lone pair of

electrons of the nitrogen atom on the benzene

ring, aniline is a weaker base than ammonia. The

basic strength of the substituted anilines,

however, depends upon the nature of the

substituent. Whereas electron-donating groups

tend to increase, electron-withdrawing groups

tend to decrease the basic strength. The base

strengthening effect of the electron-donating

groups and base weakening effect of the electron-

withdrawing groups is, however ,more

pronounced at p-than at m-position. However, due

https://dl.doubtnut.com/l/_fbW6TXckEVqD


to ortho effect, o-substituted anilines are weaker

bases than anilines regardless of the nature of

substituent whether electron-donating or

electron-withdrawing. 

What is the order of basicity of 

I. p-methylaniline 

II. m-methylaniline 

III, aniline 

IV. o-methylaniline

A. 

B. 

C. 

I > II > III > IV

I > II > IV > III

IV > I > II > III

https://dl.doubtnut.com/l/_fbW6TXckEVqD


D. 

Answer: A

Watch Video Solution

II > I > IV > III

9. All aliphatic amines are more basic than

ammonia but due to delocalization of lone pair of

electrons of the nitrogen atom on the benzene

ring, aniline is a weaker base than ammonia. The

basic strength of the substituted anilines,

however, depends upon the nature of the

substituent. Whereas electron-donating groups

https://dl.doubtnut.com/l/_fbW6TXckEVqD
https://dl.doubtnut.com/l/_HVD4AIy57up5


tend to increase, electron-withdrawing groups

tend to decrease the basic strength. The base

strengthening effect of the electron-donating

groups and base weakening effect of the electron-

withdrawing groups is, however ,more

pronounced at p-than at m-position. However, due

to ortho effect, o-substituted anilines are weaker

bases than anilines regardless of the nature of

substituent whether electron-donating or

electron-withdrawing. 

Among the following, the weakest base is

A. 

B. 

C6H5NH2

p − CH3O − C6H4NH2

https://dl.doubtnut.com/l/_HVD4AIy57up5


C. 

D. 

Answer: C

Watch Video Solution

m − CH3O − C6H4NH2

o − CH3O − C6H4NH2

https://dl.doubtnut.com/l/_HVD4AIy57up5

